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Bellwork
Solve. .
11 s [ 26
1. 7x2-20x-3=0 2. 3x2+5x-12=0
(7><H>(X‘ 3>:o (3>(-L})<>( +  3)=o
X1/1/7 X=72 Yi% X=-2
3. 123(5-28)g_:24=0 4. -16n2+12n=0
O e Jo (n,23)=0
q
(M@Q(xi%):o s> Hn3=0
K= /3 K= 3 _3/
5. 8x2+38x-10=0 n=o N3/

LU 1A -5) =0
2 (4K = 1 + 5=
Xt‘/q X:-g

2 3
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Solving Systems Algebraically

By Substitution (o ;2\

1, y;@
3v-4x=6

2 (2x 4+ ) =
(v G yx=b

ny
ST

JX =0
a 9)(10

Your turn:)

2 Ixty=-5_ %:%«5

3x + 8y = 19
(1,9)

2%+ (9x-5)= |9
32X+ 5LX-4y0 =19
59%-4D = 19

59% = 59
X=|
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Solving Systems using Elimination....

(my favorite...if there is such a thing as a favorite way to solve a math problem.)

Combine the two equations to

ELIMINATE a variable!

Sx 45 3555 3(%%4% a8y
Sx +dy =55 3x+4iy 28
7= 82 ) X -4y = 4y
=5 (3 - 73

% ) %(Xi% <%|m

Solve by using elimination.

3. -4x+4y=-12 ~4(-%) 4 4(y) =1
N /e L 2 32 +L{5:—m
-3 -32
T 2k ST
22X =L, %“\\
X=-3g
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Hﬁ

4 _ Solve by eliminating the x. Solve by eliminating the y.
X-5C1D=I7
bX+s =17
X =12
26X =25y =(17) = 6x - 5y =17
24X+ 2y =6)> 4X + 2y = 6
hX‘l =3
—l2Xx ‘8§: —Jg (9'\,»
- “otj: | b

=

(2\}?\

How do you solve a system algebraically that
is not 2 lines?

5.

YA (X%Q}g:/oo

(xr) ) (“3)’93
XQ+XQWLQV+aX+LIZIOO (G)(Z\
2 MYx 9= 0

A (y*+ax-4s)70
D (X+ 8 X= ()70
>(:\<5 n X=o
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6. y=x2-9x-18 = "
(5*0’% )%W)

SRR
,(g/1=<)( + 3
y o= =% (5"WL” ‘%/@D

201 ?

- 9
‘y2 =16 X*=0 (al% o)
X=1V0
-%:‘\ag:—% v
(6 +3 - % =0 X;'%{{;D‘%
)(3:);?
=D
(% %413 D\w X:f)@
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